BINGHAM COUNTY RESOLUTION NO. 2024-26

A RESOLUTION CHANGING THE FEES FOR THE BINGHAM SOLID WASTE DEPARTMENT, BINGHAM COUNTY ASSESSORS OFFICE, BINGHAM COUNTY PARKS & RECREATION AND BINGHAM COUNTY SHERIFFS OFFICE EFFECTIVE IMMEDIATELY FOR BINGHAM COUNTY.

Whereas, the Bingham County Commissioners held a Public Hearing on the 14th day of August, 2024, and approved the following fees provided by the Bingham County Solid Waste Department, the Bingham County Assessor's Office, the Bingham County Parks & Recreation Department and the Bingham County Sheriffs Office, pursuant to Idaho Code §63-1311A.

Be it hereby resolved that the fee change for the Bingham County Solid Waste Department, the Bingham County Assessor's Office, Bingham County Parks & Recreation and the Bingham County Sheriffs Office are attached as Exhibit A-D and will be effective immediately. All previous fee schedules for these departments are repealed as of the effective dates.

ADOPTED this 14th day of August 2024.

BOARD OF COUNTY COMMISSIONERS

Pamela Eckhardt

ATTEST

Bingham County Clerk

Mark R. Bair, Commissioner

Whitney Manwaring, Chairman

Eric Jackson, Commissioner

BINGHAM COUNTY SHERIFF - FEE SCHEDULE



LC. §31-3203 Exhibit A

		Exhibit A
Process	Service Fee/Return Fee	Deposit
Service & Process of document/s on each individual		There may be an
or location that is to be served.		influx in the deposit required
Affidavit and I or Order	\$50.00	due to the size of
Certified Mail/Postage	Actual Cost	vehicle or property
Certificate of Sale	\$10.00	that is to be
Complaint	\$50.00	executed upon.
Cross-Complaint	\$50.00	Plaintiff will be
Injunction	\$50.00	responsible for
Moving/Storage	Actual Cost	actual costs that
Notice	\$50.00	are above the
Notice of Levy	\$10.00	deposit amount
Notice to Pay/Quit-Vacate	\$50.00	that are incurred.
Notice of Sale	\$10.00	
Notice of Trustees Sale	\$50.00	
Order	\$50.00	
Order to Appear or Examine	\$50.00	
Order to Show Cause	\$50.00	/
Postings	\$5.00 each	
Civil Protection Order (issued by court)	No charge	
Restraining Order (issued by attorney)	\$50.00	
Returned Check Fee	\$30.00	
Sheriff's Deed	\$10.00	
Small Claims	\$50.00	
Subpoena - Civil	\$50.00	
Subpoena - Criminal	\$50.00	
Summons/Complaint	\$50.00	
Summons/Petition	\$50.00	
Writ of Execution -Garnishment	\$50.00	
Warrant of Distraint	\$60.00	
Warrant of Attachment/Civil Arrest	\$100.00	
Writ of Attachment/Assistance	\$75.00	/
Writ of Execution/Assistance -Personal Property	\$100.00	\$250.00 per veh
Writ of Possession/Assistance - Personal Property	\$75.00	\$250.00 per veh
Writ of Execution/Assistance -Real Property	\$150.00	\$700.00
	\$130.00	
Writ of Restitution/Assistance (If occupants voluntarily remove themselves)	\$75.00	
	Ψ/3.00	
Writ of Restitution/Assistance	24.50.00	
(If occupants do not voluntarily remove	\$150.00	
themselves) (Plaintiff is responsible for locksmith and any additional fees incurred.)		\$2,000,00
701 1 1001 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$150.00	\$2,000.00 Minimum
(If the sheriff is required to forcibly remove subject/s	\$150.00	Plaintiff responsible
and levy on goods and chattels, then an additional		for additional fees
fee will be charged including additional deputies		that are incurred.
and deputy overtime pay if		
needed.)		
Deputy average wage/benefits @ regular hourly	\$21.2C	EXHIBIT
wage.	\$21.26	
Moving Expenses	Actual Costs	A Pappies
		3
Storage of Property	Actual Costs	

Sheriff's Sale Fees on Writ of Execution:	Service Fee/Return Fee	Deposit
PERSONAL PROPERTY:		
Writ of Execution/Assistance	\$100.00	0070.00
Notice of Levy	\$10.00	\$250.00 per veh
Notice of Sale	\$10.00	
Post Each Notice	\$5.00	
Publication	Actual Cost	
Sheriff's Commission for each Levy for Personal or Real Property Levied and Sold	Not to exceed \$100.00	
Sheriff's Commission without Levy for each action.	Not to exceed \$75.00	
Sheriff's Commission on each Levy for Personal or Real Property that is not sold or the sale is cancelled by plaintiff.	Not to exceed \$75.00	
Commission Credit Bid-Plaintiff Only	\$50.00	
Storage of Property	Actual Cost	
Towing of Vehicle	Actual Cost	
Certificate of Sale	\$10.00	
Danggar kan kermen nggap _{a ka} nggalangan kematan mereka da menggapapan meram di 1990 <u>gana</u>		
Writ of Execution/Assistance	\$150.00	
Notice of Levy	\$10.00	\$700.00
Notice of Levy Notice of Sale	\$10.00 \$10.00	\$700.00
Notice of Levy Notice of Sale Post Each Notice	\$10.00 \$10.00 \$5.00	\$700.00
Notice of Levy Notice of Sale Post Each Notice Publication	\$10.00 \$10.00 \$5.00 Actual Cost	\$700.00
Notice of Levy Notice of Sale	\$10.00 \$10.00 \$5.00	\$700.00
Notice of Levy Notice of Sale Post Each Notice Publication	\$10.00 \$10.00 \$5.00 Actual Cost	\$700.00
Notice of Levy Notice of Sale Post Each Notice Publication Certified Mail Sheriff's Commission for each Levy for Personal or	\$10.00 \$10.00 \$5.00 Actual Cost Actual Cost	\$700.00
Notice of Levy Notice of Sale Post Each Notice Publication Certified Mail Sheriff's Commission for each Levy for Personal or Real Property Levied and Sold	\$10.00 \$10.00 \$5.00 Actual Cost Actual Cost Not to exceed \$100.00	\$700.00
Notice of Levy Notice of Sale Post Each Notice Publication Certified Mail Sheriff's Commission for each Levy for Personal or Real Property Levied and Sold Sheriff's Commission without Levy for each action. Sheriff's Commission on each Levy for Personal or Real Property that is not sold or the sale is cancelled.	\$10.00 \$10.00 \$5.00 Actual Cost Actual Cost Not to exceed \$100.00 Not to exceed \$75.00 Not to exceed	\$700.00
Notice of Levy Notice of Sale Post Each Notice Publication Certified Mail Sheriff's Commission for each Levy for Personal or Real Property Levied and Sold Sheriff's Commission without Levy for each action. Sheriff's Commission on each Levy for Personal or Real Property that is not sold or the sale is	\$10.00 \$10.00 \$5.00 Actual Cost Actual Cost Not to exceed \$100.00 Not to exceed \$75.00 Not to exceed \$75.00	\$700.00
Notice of Levy Notice of Sale Post Each Notice Publication Certified Mail Sheriff's Commission for each Levy for Personal or Real Property Levied and Sold Sheriff's Commission without Levy for each action. Sheriff's Commission on each Levy for Personal or Real Property that is not sold or the sale is cancelled. Commission Credit Bid-Plaintiff Only	\$10.00 \$10.00 \$5.00 Actual Cost Actual Cost Not to exceed \$100.00 Not to exceed \$75.00 Not to exceed \$75.00	\$700.00
Notice of Levy Notice of Sale Post Each Notice Publication Certified Mail Sheriff's Commission for each Levy for Personal or Real Property Levied and Sold Sheriff's Commission without Levy for each action. Sheriff's Commission on each Levy for Personal or Real Property that is not sold or the sale is cancelled. Commission Credit Bid-Plaintiff Only Certificate of Sale	\$10.00 \$10.00 \$5.00 Actual Cost Actual Cost Not to exceed \$100.00 Not to exceed \$75.00 Not to exceed \$75.00	\$700.00

GARNISHMENT:	
One Time Garnishment	\$50.00
Continuing Garnishment	\$50.00
Interim Return	\$10.00
Recording of any documents Copying/Printing of any legal documents	Actual Costs S1.00 per page
including Notice of Garnishment and Claim of Exemption Packet	31.00 per page
CONCEALED WEAPONS:	
New Concealed Weapons Permit	\$55.00
Renewal on an existing Concealed Weapons Permit	\$38.00
Fingerprint Cards	\$10.00
RECORDS REQUEST: There is no cost for copies under 100 pages, over 100	
pages will be charged the actual cost of copies. If you are requesting copies of photographs, tapes or videos YOU must provide a 16GB thumb drive and pay a	
\$2.00 fee for copying. There will be a charge if nonpublic information must be redacted. Actual cost of employee's time to locate and copy the records	
if it exceeds 2-person hours- if it requires overtime it will be charged at 1 ½ times their wage. All costs must be prepaid.	

If at any time, the Sheriff's Office needs to call in additional deputies to facilitate the proper service of documents and/or for the execution of property, an additional fee will be charged including current deputies' average wages/benefits at regular hourly wage and overtime pay if needed.

Towing of vehicle per execution, advance deposit required -actual cost Moving expenses: advance deposit required-actual cost Recording of documents -actual cost Publication costs -actual cost

After a lengthy survey of other Sheriff's Offices in the State of Idaho, the Bingham County Sheriff's Office is requesting that the fees collected be changed accordingly.

g-14-2024 Dated



Bingham County Solid Waste Fees

Solid Waste Fees			Central Trans Station	Aberdeen Landfill & Tra	Rattlesnak Landfill & Tra Station
Household Waste - Residential	per ton		\$76	\$106	\$106
Household Waste - Commercial	per ton		\$76	\$106	\$106
Construction & Demolition Solid Waste - Residential	per ton		\$30	\$10	\$10
Construction & Demolition Solid Waste - Commercial	per ton		\$30	\$20	\$20
Grass Clippings, leaves, pine cones/needles, flowers, wood chips	per ton		\$30	\$5	\$5
Inert / Fill Material	per ton		\$5	\$5	\$5
Dirt - clean	per ton		no charge	no charge	no charge
Dead Animals	per ton		not accepted	not accepted	\$25
Dead Animal Parts - Industrial / Commercial	per ton		not accepted	not accepted	\$50
White Goods - appliances, water heaters			no charge	no charge	no charge
Vehicle Batteries (all other batteries are Household Waste)			no charge	no charge	no charge
Refrigeration units (freezers, fridges, large AC units, Etc.)			\$25	\$30	\$30
AC units - window size / small fridges			\$20	\$25	\$25
Portable Propane Tanks - up to 45 lbs (Empty Only)			\$5	\$6	\$6
Flourescent Bulbs	4' T-12 Bulb	ea	\$2	\$3	\$3
	4' T-8 Bulb	ea	\$1	\$2	\$2
	8' T-12 Bulb	ea	\$4	\$5	\$5
	8' T-8 Bulb	ea	\$2	\$3	\$3
Tires	passenger	ea	\$5	\$6	\$6
No Retail Business or Commercial Tires Accepted	pickup	ea	\$7	\$8	\$8
	truck / semi	ea	\$15	\$16	\$16
Tires with Rims	passenger	ea	\$6	\$7	\$7
	pickup	ea	\$8	\$9	\$9
	truck / semi	ea	\$17	\$18	\$18
Implement & Industrial Equipment	per ton		\$360	\$370	\$370
Oil (Residential Only, 5 gallon maximum)	per gallon or less		\$1	\$1	\$1
Anti-freeze (Residential Only, 5 gallon maximum)	per gallon or less		\$1	\$2	\$2
Paint (opened & dried)	per gallon or less		\$1	\$2	\$2
Wet Paint	per gallon or less		\$5	\$6	\$6
Burn Barrels (Prohibited)					not accepted
Tree Branches and / or stumps	per ton		\$12	\$12	\$12

EMERGENCY / CONTINGENCY FEES		C & D	Household
Small Pickup/Vehicle	per load	\$5	\$5
Full Sized Pickup	per load	\$5	\$10
w/Trailer less than 15'	per load	\$10	\$15
w/Trailer more than 15'	per load	\$15	\$20

COMMERCIAL EMERGENCY / CONTINGENCY FEES Rattlesnake & Aberdeen Landfills Only

	П	
per load		\$50

\$5.00 minimum charge on all solid waste loads.

\$10.00 Fee charged on All loads not tarped/secured

\$5.00 Deferred Payment Fee

\$5.00 Weight Ticket

All transactions will be rounded to the nearest dollar amount.

Burn Barrels & contents within are no longer accepted - contents must be removed, separated, & cold.

Bingham County Resolution No. 2024-26

Date Effective: August 14, 2024



Cost of Bingham County GIS Data

Layer Name	Cost	Sales Tax	Total
City Limits	75.00	4.50	\$79.50
Commissioner's	50.00	3.00	\$53.00
House Addresses	200.00	12.00	\$212.00
Fire Districts	75.00	4.50	\$79.50
Parcels	300.00	18.00	\$318.00
Roads	200.00	12.00	\$212.00
Subdivisions	150.00	9.00	\$159.00
Zoning	200.00	12.00	\$212.00



Charge for Copies on HP Z9-DR Plotter

Size	Sq in	Black&White	Color	Hillshade	Photo/Aerial
8.5 x 11	204	\$ 1.00	\$ 1.25	\$ 2.00	\$ 3.00
11 x 17	264	\$ 1.00	\$ 1.50	\$ 2.75	\$ 4.00
18 x 24	432	\$ 3.00	\$ 3.25	\$ 4.25	\$ 6.50
24 x 36	864	\$ 4.00	\$ 5.00	\$ 8.75	\$13.00
36 x 48	1728	\$ 6.00	\$10.00	\$17.50	\$26.00
42 x 60	2520	\$ 8.00	\$14.00	\$25.25	\$37.75

Charge for Copies on HP LJ M751

Size	Sq in	Black&White	Color	Hillshade	Photo/Aerial
8.5 x 11	93.5	\$.25	\$.50	\$ 1.00	\$ 1.50
8.5 x 14	119	\$.35	\$.75	\$ 1.25	\$ 1.75
11 x 17	187	\$.50	\$ 1.00	\$ 1.75	\$ 2.75

Charge for Copies on Kip Copier/Scanner

Size	Sq in	Black&White	Hillshade	Photo/Aerial
8.5 x 24	204	\$ 1.00	\$ 1.75	\$ 2.50
11 x 24	264	\$ 1.00	\$ 2.00	\$ 3.25
16 x 24	384	\$ 2.00	\$ 3.00	\$ 4.75
18 x 24	432	\$ 2.00	\$ 3.50	\$ 5.50
24 x 36	864	\$ 3.00	\$ 7.00	\$10.75
36 x 48	1728	\$ 5.00	\$13.75	\$21.50
			_	

Meeting Date: August 16, 2524 Meeting Time: 1:30 Pm



REQUEST FOR MEETING WITH BINGHAM COUNTY COMMISSIONERS FORM

The Board of County Commissioner's hold meetings various days throughout the week, which are coordinated with the Commission Clerk. Per Idaho Code §74-204(1), the Board cannot hold a meeting without less than 48 hours' notice and posting on the Commission Agenda. Any person(s) needing special accommodations should contact the Lindsey Dalley, Commission Clerk, at (208)785-3013.

Name: Krysta Aten-Schell

Email: krysta@geobitmine.com

Phone Number: (208) 541-6361

Address: 2000 W. Broadway, Idaho Falls, ID 83402

1. What is the topic of discussion that you wish the Board to have?

Open forum discussion with GeoBitmine (GeoFarms) investors regarding current project & future possible development.

- Does the County want us to grow and build more greenhouse on this land?
- If there are future concerns, what forum can be used to address these vs. immediate shut down.
- Permitting/Zoning Updates
- Is there anything the county needs from us, other than the items already outlined by Code Official, to help this project run more smoothly going forward?
- 2. Approximately how much time will you need for this agenda item? 30 minutes
- 3. Will you be requesting that the Board make a decision? No.
- 4. Have all supporting documents been included with this form? If not, please note that your meeting may not be scheduled until all necessary documentation has been provided to the Commission Clerk. None required
- Please provide the name and contact information of the individuals that you would like to
 Be invited to the meeting. (Include name, telephone number and email address if known)
 Jay Jorgensen, (208)351-1535, jay@geobitmine.com; Krysta Aten-Schell (208) 541-6361,
 krysta@geobitmine.com; Alicia Atkinson (208) 360-2420 alicia@geobitmine.com; Alex Holmes,
 alex@elektron-energy.com, San Naidoo san@elektron-energy.com, Raphael Zagury raphael@elektron-energy.com

<u>Please hand deliver or email this completed form, along with all supporting documents to Lindsey Dalley at Ldalley@binghamid.gov</u>, at least 24 hours prior to your scheduled meeting time.

Bingham County Park Fees

(Includes Sportsmans Park in Aberdeen & North Bingham Park in Shelley) (Day Use Only parks are Springfield, Moreland & Rose Ponds)

	RESIDENTS	NON RESIDENT OF COUNTY
Water & Electricity	\$25.00	\$45.00
Electricity Only	\$20.00	\$35.00
Tents	\$15.00	\$25.00
Pavilion	\$50.00	\$75.00

